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The absolute error between different methods
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(1) approx.m

% WHf (z)=z 2% In (2+z)NEAETFIHEEZXZABEKEL, rho (z)=1
% Author: Qun Liu

% Time: 2014—12—11

clear;

clc;

close all;

% EXZTAINEN S (n=4) .

n = 3;

N = n+1;

% R 2
xx = —1:0.01:1;

% WESf (z)E
f=xx."2 . log(2+xx);



%% TEBERECN rho (z ) MR TFINEIE =X 2 WA=1
b = zeros(N,1);
A = zeros(N, N);
% EXFFSAEE, FTRERS
syms x
% FEXFFSHE, BHEIE KR f
F = x"2xlog(2+x) ;
for i = 1:N
for j = i:N
A(i,j) = int(x"(i—-1)*x"(j—1), =1, 1);
if i"=j
AGGL i) = AL ) s
end
end
b(i) = int (Fxx"(i—1), —1, 1);
end
% TV ITEIE =2 A 23
a = A\b;

%% ALV ITBIE=IRZ T

y1=0;

for i = 1:N
yl =yl + a(i).* xx."(1-1);

end

figure ,

set (gef, "outerposition’,get (0, screensize’));

subplot (2,2,1),

plot (xx,f,’ =’ ,xx,yl,’r—", ’linewidth’, 2);

%plot(zz, [f;yl], ’linewidth ’, 2);

h = legend (’$f(x)=x"2In(24+x)$’, ' $p-3(x)$’);%Cubic\ polynomial\ of\ best\ square\
approzimation\

%h = legend (’8f(x)=x"2In(2+x)8$’, Cubic\ polynomial\ of\ best\ square\ approzimation)

$p-3(x)$’);

set(h, ’Interpreter’,’Latex’,’FontSize’,14, FontWeight’, ’bold’, Box’,’off’, Location
>, ’Best )

%titlel RS HRAET BT =XZ WX MLE (7, "FontSize ,14, FontWeight’, "bold ’) ;

hx = xlabel(’$x$’);

hy = ylabel(’$y$’);

set ([hx,hy], ’Interpreter’,’Latex’,’FontSize’,14, FontWeight’, bold’)

%% Chebyshev AL

Syms X
TO = sym(’17);
Tl = x;

% a AT R R

a2 = zeros(N, 1);

% NREHrho

rho = 1/sqrt(1-x"2);

%a2(1) = int(rhoxFxT0,—1,1)/pi;

a2 (1) = quad(eval ([’Q(x)’,vectorize (rho*F«T0)]),—1,1)/pi;



a2(2) = quad(eval ([’@Q(x)’,vectorize (rhoxFxT1)]),—1,1)/(pi/2);
% FERBORIEEy 2
y2 = 0;
y2 = y2 + a2(1)*1 + a2(2)*xx;
for i = 3:N
T2 = 2xxxT1-TO;
T = eval ([ ’@Q(x) ’,vectorize (T2)]);
a2(i) =quad(eval ([’@(x)’,vectorize (rhoxF«T2)]),—-1,1)/(pi/2);
%y2 = y(2) + a(i)*xsubs (T2, zz);
TO = T1;
T1 = T2;
v2 = y2 + a2(i)*T(xx);
end
subplot (2,2,2)
plot (xx,f, =’
Zplot (zx, [f;yl], ’linewidth ', 2);
h = legend (’$f(x)=x"21n(24+x)8$’, Chebyshev_$S_3"x$");
set(h, ’Interpreter’,’Latex’,’FontSize’ ,14, FontWeight’, ’bold’,’Box’,’off’, Location
>, ’Best )
%titlelReREL (BWWILEL Chebyshev (n=8)ILtLE *, "FontSize *,14, FontWeight’, "bold ’) ;
hx = xlabel(’$x$’);
hy = ylabel(’$y$’);
set ([hx,hy], ’Interpreter’, Latex’,’FontSize’,14, FontWeight’, ’bold’)
%% BRI AMEI%
k = O:n;
xn = cos ((2xk+1)./(2xN).*xpi);

,xx,y2, ’r—", ’linewidth’, 2);

y3 = Lagrange(n, xn, Xx);

subplot (2,2,3),

plot (xx,f ,xx,y3, ’linewidth’, 2);

%plot (zx, [f;yl], ’linewidth ', 2);

h = legend (’$f(x)=x"21In(2+x)$’, '3\ tilde{L}_3(x)$");

set (h, ’'Interpreter’, Latex’,’FontSize’,14, FontWeight’, bold’,’Box’, off’, Location
>, ’Best )

%title REREUSGIHERTN MU (7 (n=3)E *, "FontSize ’, 14, FontWeight ’, "bold ’) ;

hx = xlabel(’$x$°);

hy ylabel (’$y$’);

set ([hx,hy], ’Interpreter’,’Latex’,’FontSize’ ,14, FontWeight’, bold’)

96% L =R O7 I E R B

subplot (2,2 ,4)

plot (xx,f, =’ ,xx,yl,’:’ ,xx,y2, —.’ ,xx,y3, ’linewidth’, 2);
%plot (zx, [f;yl], ’linewidth ’, 2);
h = legend (’$f(x)=x"2In(2+x)$’,’8$p-3(x)$’, ’'Chebyshev_$S_3"%$’, 8\ tilde{L}-3(x)$");

%Cubic\ polynomial\ of\ best\ square\ approzimation\

set (h, ’'Interpreter’,’Latex’,’FontSize’,14, FontWeight’, bold’,’Box’, ’off’, Location
>, Best ")

hx xlabel ('$x$);

hy = ylabel(’$y$’);

[hx,hy], ’Interpreter’,’Latex’,’FontSize’ ,14, FontWeight’, bold’)

set

(
set (

gcf, ’PaperPositionMode’, ’auto’) % Use screen size



% FTEVE A
print —djpeg —r300 approx.jpeg;

%% w2

% HixfiRE

figure ,

set (gcf, ’outerposition’
plot (xx, abs([f—-yl;f—y2;f—y3]), LineWidth’,2)

h = legend ("$|f(x)—P3(x)|$’, "$|f(x)—S-83"*(x)[|$’,’8|f(x)—\tilde{L}-3(x)[8$");

set (h, ’'Interpreter’, Latex’,’FontSize’,14, FontWeight’, ’bold’,’Box’,  off’, Location

,get (0, screensize’));

>, ’Best )
title ( 'The_absolute_error_between_different._methods’, FontSize’,14, FontWeight’,’
bold 7);

hx = xlabel(’$x$7);

hy = ylabel(’$y$’);

set ([hx,hy], ’Interpreter’,’Latex’,’FontSize’,14, FontWeight’, bold’)
set (gef, ’'PaperPositionMode’, ’auto’) % Use screen size

% {TENEY

print —djpeg —r300 approxabserror.jpeg;

Lagrange.m

function f=Lagrange(n, xn, x)
% FEHEE Lagrange , NIEET SN0, NERMRESHEL
% Qun Liu 201/4—12—13

f = zeros(size(x));
for i = 1:n+1
i = 1;
for j = 1l:n+41
if iT=j
%li = Li x (w(k)—zn(§))/(sn(i)—zn(j));
= 1 s (xxn(§))/(en(i)—xn(j));
end
end
%f (k)= f(k)+lix1/(1+25xan (i) "2);
f = f+ li*xn(i) "2xlog(xn(i)+2);

end
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